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(Part-1  J)ddas)
Write short answers to any SIX parts.

-é - ﬂ‘}:lﬂ'&ﬁt}-}*’,ﬂ? t

Define rational and irrational numbers. (B
Solve by using formula:  (x+y) -1 ' x+yP -1 fe nbird  Gi)
simpiify: (V3 -2)(5-/5) (V3-2)(s-5) . i)
Define cubic polynomials. Give an example. _é:dlj’ ‘! -a_:’,:\..ij,;"‘._&rq, ;Efi‘,{h,_-m_;f {iv)
Factorize:  a’ —12a-85 a’-i22-85 g LWL Iz (v)
ok |'Ji"’5‘z;5-—i!|:’:?:}_ﬂ- x =Ly P(x)=5x* wompd My>—5x-3 11 ivi)
If P(x) = 5x% + 14x% + 3x% —5x ~ 3 is divided by x -1, find the remainder.
Define H.C.F. -Eo A i
Find L.CM. by factorization:  x°yz , xy’z , xyz? xyz, xy88, W gL b Pei fr s (viil)
Find the square root:  16x2 + 24xy +9y° _ 16x7 +24xy+9y2 gl hs  (ix)
Write short answers to any SIX parts. -é@ilﬁjﬂblzlfpaf
Solve: (x-3)°=4 = ' (x -3 =4 :‘:_:.J_ (i}
Solve by factorization:  2x = % +3 2x = %+ LY 9% 7 ZOS R (1))
Write the names of methods to solve a qualratie equation. ..E"..O}‘t ‘-'q,ﬂclgyu' .:duﬁ.’)f.rf:.‘bvd.uu (iii)
Define linear equation. ; ..é - ,;ur’:.-l:wug (iv)
Sotve:  2x%=3x 2x3=3%x EF
Solve by factorization: 2%° + 8% -8 = 0 2x2+15x-8=0 ZM5FA5 vy
What is meant by afinspose of a matrix? T‘L.--'/L_fc.,?:;".!.f‘d:...:JF (wil}

) o
'“"*[3 g],‘h[q .'4] then find AB.

Define rectangular matrix with example.
Write short answers to any SIX parts.
Define square. S S,

Define radius of circle. _:;’:-: --é"/"b[’d!).&:d.- 2

:éf}‘“@fJ X u:.&..ﬁ-;ﬁi:

Find the value of x in the given triangle:

Define median of a triangle. Sl s
Define incenter of the triangle. -:_:‘,5.’ - ﬁ&:‘;ﬂ}ﬁﬂ

(&)

_é:'FABPxB=[_§ K A="L3 E,UT (viii)
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Find area of rectangle 20cm long and 18cm wide. - 18em JIJ:; i 20cm JHJJJ@{_}P‘JJ&% (vi)
Find the volume of cube whose edge is 8m. KB #JU‘?'KJ"%{P(‘?(J&J {vii)
Find the distance between the points A(2, 1), B(~4, 3) SE bl AR 1), B4, 3) 58 (viii)
Define collinear points. -gé-..if/‘ULE"H;‘? (ix)
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Part - II, Antempt any THREE questions. Each question cafries 08 marks.

a—b:3,,na+b=5,{zg£p’”¢é£ab s 2%+ b7 (L)

Find the value of 32 +b? and ab when a+b=35 and a-b =3

Factorize: 64x7 — xa® 64x’ —xa® {’_':-4.5,; (-—)

,é—‘:r,ir‘.;«_.fJa ¥ ux-—a r‘yrglf,s’ x2+3x—13ulx2-x+6)’f ()

If x—2 is the HCF of x* —x—6 and x*+ 3% =18 then find the value of a .

Solve: ‘4—}‘:_’_—3-+8?:'6+-:_§21 4’(3'3+3>6+§f_ :_:_,-;L,l"’ (<)
Solve using quadratic fermula: (x-Dix+3H-12=0 f__i.:gwa.thx{;;m (<2)

-gcj.ib-.t‘f.bﬂulﬁl_flﬁckﬁﬂ O%:Vu -a_.,l.z:ﬂbwwdju_g )

Draw an equilatefal triangle each of whose side is 5.3cm. Draw its medians.

Solve by Cfamimer’s rule: x+3y=1; 2x+8y=0 Iéfa-‘&')’ﬁ-,é; (i)
[l 2 i 2 .
Find M'M when M=L3 4:l M =[3 4} /ﬁ_é.'p“" MM (&2

R $35 S e ()

LB C4, 3) 4 B(6,2) « AR, 4) BB =t (L)
Show that the points A(2 , 4), B(6, 2} and C(4, 3) are collinear.
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Find the volume of a sphere with radius 3.5¢cm
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